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KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING
THIS QUESTION PAPER
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. This Question Booklet contains 100 questions with weightage of

1 mark for each question.

. Before attempting the question paper, kindly check that this booklet

has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

. The OMR Answer Sheet consists of three copies, the original copy, the

commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

. Please ensure that the Question Booklet Number and OMR Answer

Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

. All the necessary particulars on the OMR Answer Sheet should be

filled carefully. Change of OMR Answer Sheet is not permitted.

. Do not forget to write Roll Number on the top of this Question

Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

. Candidate has to fill one option compulsory out of five options

given. If a candidate does not know the answer, then he/she has
to fill the 51 option (option ). Extra five minutes will be given to
mark 5" option, No marks will awarded against the 5t option as it
indicates that the candidate as not attempted that question.
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8. There shall be no negative marking for a wrong option having been

filled. In case a candidate does not wish to attempt a question,
he/she will need to fill in the fifth option/bubble in the OMR Answer
Sheet. Failure to do so shall result in deduction of one mark.
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Which of the following is the smallest
negative integer ?
(A) O

(C) -3

(B) -1
(D) -2
(E) Not attempted

A person incurs a loss of 10% by selling
a watch for Rs. 450. At what price should
the watch be sold to earn 10% profit ?
(A) Rs. 550

(B) Rs. 600

(C) Rs. 750

(D) Rs. 500

(E) Not attempted

Who among the following was a famous
Khayal singer from Haryana belonging to
Gwalior Gharana ?

(A) Haddu Khan

(B) Tansen

(C) Bade Ghulam Ali Khan
(D) Amir Khusro

(E) Not attempted

The largest concentration of green house

gases in the atmosphere is
(A) Carbon dioxide

(B) Chlorofluorocarbons
(C) Nitrous oxide

(D) Methane

(E) Not attempted
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(A) 0 (B) —1

(C) -3 (D) -2

(E) 3r=nfEa

Teh SHfdd hl Teh Tt 450 T9F H s T

10% 1 B Bt 3 | 10% o1 HHN &
U =€t o fope Fimd W S=T 9T =R 7
(A) %. 550

(B) %. 600

(C) . 750

(D) %. 500

(E) A9iyd

Frafefea # @ S eforr =T 8
BT % Teh Ufdg AT b & 7
(A) T @M

(B) aTEA

(C) &1 T e @M

(D) R g

(E) ST
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Higal 3

(A) e ST3HATFTSS

(B) FAFABTST

(C) TTEgH HATFTES

(D) Them

(E) e
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Whatis the value of 10— (2x3) +8+2 ?

(A) 5
(B) 6
(C) 7
(D) 8
(E) Not attempted

How are computers used in

Communication ?

(A) Via e-mail, video conferencing and
chatting

(B) For advertising and home shopping

(C) For managing budgets and payrolls

(D) Through CAD applications

(E) Not attempted

When was National Bank for Agriculture
and Rural Development (NABARD)
established ?

(A) 1982

(C) 1987

(E) Not attempted

(B) 2002
(D) None of the above

What is the value of sin 90° x cos 0° ?
1

A B) V2

A Y ®) 2/

(C) 1 (D) 0

(E) Not attempted

IfA:B=3:2andB:C =3:5, then
A:B:Cis

(A) 9:6:10

B) 6:9:10

C) 10:9:6

D) None of the above

E) Not attempted

P
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10-(2x3)+8:2H A FT & ?
(A) 5

(B) 6

©€) 7

(D) 8

(E) 3ToRted

. TER 8 H H ST HY R Smar § 7

(A) 3-, difga wi-mpiE K =fdn &
eIy o

(B) o= 3 gm wnifu & ferw

(C) S 3 UUSA & J&o & oIy

(D) CAD 3T % H1ea &

(E) 3=t
. USSR Y ST i fyehrg Sk (TeTE)
T forg 99 1 Y TS oft ¢
(A) 1982 (B) 2002
(C) 1987 (D) ST T & IS T
(E) 3m=nfEa
sin90°><cosO°‘°h‘rl=lFrT=|ElT%?
1
A Yo ®) 2/
(C) 1 (D) 0
(E) 3v=nfEa
. e A:B=3:23MB:C=3:5%,d
A:B:C@’ﬂ
(A) 9:6:10
(B) 6:9:10
(C) 10:9:6
(D) 3Ta | © HIS T
(E) 3rv=nfEa
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11.

12.

13.

e

The 91%! Amendment Act of Indian
Constitution was brought in

(A) 2000 (B) 1989

(C) 2003 (D) 2001

(E) Not attempted

Which among the following districts of
Haryana shares its borders with three
States ?

(A) Yamunanagar (B) Panchkula
(C) Kurukshetra (D) Ambala

(E) Not attempted

Select the correct alternative that indicates
the arrangement of following units in a
logical and meaningful order.

1. Scrutiny

2. Application
3. Interview

4. Job offer

5. Joining

(A) 3,1,5,4,2
(C) 2,1,3,4,5
(E) Not attempted

(B) 2,4,1,5,3
(D) 1,8,2,4,5

Who among the following was a famous
Urdu poet from Haryana, honored with
the ‘Shamsul Ulema’ title by British
Government in 1904 ?

(A) Jaimini Sarshar

(B) Altaf Hussain Hali

(C) Khwaja Ahmad Abbas
(D) Naubhar Sabir

(E) Not attempted
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12.
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(A) ITTR (B) TRt

(C) Feer (D) fse

(E) STt

&l T 1 == L S dTieheh 3R
a1efes oA § FrfoaiRaa seprsal s s
1 30 Lt & |

1. Hae

2. ITEEH

3. HIEATHR

4. G TETE

5. S BT

(A) 3,1,5,4,2 (B) 2,4,1,5,3

(C) 2,1,3,4,5 (D) 1,3,2,4,5

(E) 3rw=nfEa
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(A) It g
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14. Which of the following is an example of 14. T=fcifea & 9 =9 Rk feamsa =1

an Input Device ? R4 Ul % ?
(A) Monitor (B) Speaker (A) AT (B) T
(C) Keyboard (D) Printer (C) whiee (D) fiex
(E) Not attempted (E) 3=nfEa
15. In the following question, a statement 15. = %Q T R4 T Y 37T 2 frony 1°q’Q Ry
followed by 2 conclusions is given. 2 | 98 g fasepd zﬁ, S feu U weET
Choose right conclusion which logically ke &9 9 FLHTT LAl A
follows the given statement.
. A : ag hl T W & o1 31t
Statement : Morning walks are good for
health. B 2 |
Conclusions : I. All healthy people go fooehe - 1. @t E‘EN T S geie W
for morning walk. ST @ |
Il. Evening walks are II. 3T T BT ETHHES & |
harmful. (A) | 3T 11 gHT STTET L &
(A) Both land Tollow (B) Faer frsay || ST HT 2
(B) Only conclusion Il follows
) (C) AN 1T & Il JTTET BT &
(C) Neither I nor Il follows
(D) Only conclusion | follows (D) hered foreerd | STTELOT hdT 2
(E) Not attempted (E) TR
16. A person travels 120 km in 4 hours. If he | 16. T& =fda 4 92 | 120 forrft &1 amn e
increases his speed by 10 km/hr, how long & | 3fq 9 7t ifd 10 fop ’il/‘aa el
will it take him to travel same distance ? Bl %’ @ E‘ﬁ T H
A) 3h B) 25h NS !
(A) 3 hours (B) 2.5 hours A) 3T ) o5
(C) 3.5 hours (D) 2 hours (C) 359 (D) PRora
(E) Not attempted (E) 3r=nfEa
17. The concentric circles on the platter of 17. T fo&h & =it W Tehigd Eﬁﬁ Eal
hard disk are known as _ HhEIHIMIIE@R |
(A) tracks (A) ¢
(B) sectors (B) HFX
(C) circles (C) @ehet
(D) none of the above (D) 3uYF H H g &
(E) Not attempted (E) STTTRAC
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18.

19.

20.

21.

22,

e

Which of the following is true for

x=3-27 2
(A) x=0 (B) x=-3
(C) Undefined (D) x=3

(E) Not attempted

Slash and burn agriculture, commonly
called as Jhum cultivation practiced in the
(A) North-eastern States of India

(B) Coastal Kerala

(C) North-western States of India

(D) None of the above

(E) Not attempted

In the following question, select the word
from the given alternatives which can’t be
formed using the letters of the given word.

CONSTRUCTION
(A) NOTION

(C) CAUTION
(E) Not attempted

(B) COINS
(D) SUCTION

Which Airstrip in Haryana is also called
as Silokhera Airstrip ?

(A) Karnal (B) Narnaul
(C) Hisar (D) Gurugram
(E) Not attempted

What does ROM stand for ?

(A) Ready Open Memory

(B) Read Only Memory

(C) Random Operations Memory
(D) Random Output Memory

(E) Not attempted

18.

19.

20.

21.

22,
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x = Y-27 % feru faefafaa & & S-a1
AR ?

(A) x=0 (B) x=-3
(C) rufeerya (D) x=3
(E) 3Tomfyd

WY Ug & HiY, TF STmdk o gm wdt
gl ST 8, hal Jetd & ?

(A) WIRA o T T

(B) AT A

(C) YT o IT-ufzenft T

(D) ST # B HI3 T

(E) A9miyd

fr=ferfaa go7 & faspedi # @ 97 wsg oA
St feu T S1eg o TR HT IUAN Hih
TE S ST FhT B |
CONSTRUCTION
(A) NOTION

(C) CAUTION
(E) 3nfEa

(B) COINS
(D) SUCTION

giEmn <1 fohe gaTs ugt @ faet@sn
7Ts gl oft et T B 7

(A) FETA (B) ARAYA

(C) feam (D) T

(E) 3Tv=mtyd

SR.31.TH, 1 o1 31 3 7
(A) &t T T

(B) fig A=l ooy

(C) {eu TRy T
(D) {0 3TM=3TYe AAKY

(E) e
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23.

24.

25.

26.

27.

e

The famous Ajanta Caves, which consist
of twenty-nine caves, are located in which
Indian State ?

(A) Gujarat

(C) Rajasthan

(E) Not attempted

(B) Madhya Pradesh
(D) Maharashtra

A sculpture found at Sugh in Ambala

district of Haryana depicts which of the

following ?

(A) Kings in a battle

(B) Singers and musicians travelling on a
bullock cart

(C) Women performing folk dance

(D) Farmers ploughing fields

(E) Not attempted

Which of the following diagram indicates

the best relationship between German,
French, Languages ?

-©

O

(B)

(C)

(E) Not attempted

Which traditional ornament worn by
married women in Haryana is a silver ring
worn on the toes ?
(A) Pali

(C) Jhanjhar

(E) Not attempted

(B) Bichhiya
(D) Payal

The Article 23 and 24 of Indian
Constitution are related to

(A) Right to Freedom

(B) Right against Exploitation
(C) Right to Freedom of Religion
(D) Right to Equality

(E) Not attempted

23.

24,

25.

26.

27.
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gftrg ITa w5 3dte el
e 2, forg YRl s § @ 8 2
(A) TSI (B) HEA e

(C) USTHITH (D) HERTSE
(E)

ghamn % steren e & ga # a1 u
o Foffira 5 & @ 2ol 2 7

(A) T Ig | TSI ‘
(B) SISl 9T I hid TTHeh 3T Efias

(C) TAhe FTd FY el
(D) @ SIadT

(E) 3r=nfEa

frefafad § & sH-a1 3@ s, $=
3R I3t % o= gatan g9y ewiar 8 ?

O

(E) 3m=nfEa

g § feafea afeensti g WA
3ferat ® ueh =id) T SIS S TE T S
T YN T g 7

(A) TTeit (B) fafesan

(C) ¥R (D) T

(E) 3w

TR A & T esg 23 37 24 fha
et 8 7

(A) TEAAT T ARBR

(B) 3T & faeg 3rferepR
(C) ©ftieh Tea=dT =T IR
(D) THMAT 1 3TferhR

(E) A9miyd
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28. Excavations at which site in Fatehabad
district of Haryana have revealed
pre-Harappan culture ?

(A) Banawali

(B) Mittathal

(C) Kunal

(D) None of the above
(E) Not attempted

29. Which type of language was used in

Second Generation Computers ?

(A) High level programming languages
(B) Assembly language

(C) Object oriented programming

(D) Machine language

(E) Not attempted

30. Consider the following statements about

Primary memory :

Statement 1 : Random Access Memory
(RAM) is volatile, as long as the power
is supplied to the computer, it retains

the data in it. But as soon as the power
supply is turned off, all the contents of
Random Access Memory (RAM) are
wiped out.

Statement 2 : Random Access
Memory (RAM) is usually referred to as
main memory and it is faster than the
secondary memory or storage devices.

Which of the statements given above
is/are correct ?

(A) Both statements 1 and 2 are correct
(B) Only statement 2 is correct

(C) Both statements 1 and 2 are incorrect
(D) Only statement 1 is correct

(E) Not attempted

28.

29.

30.
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TS § Yo -gSW1 HEH{d &1 9aq1 91 & 7
(A) SHTET
(B) Ty
(C) pomet
(D) 3w § § B T
(E) 3Tomfed
T fiEt & el # fore YR i wm

T ITANT fomar T o 7

(A) =9 TliT T el
(B) 3TEscAT W

(C) 3issere 3Nug TmfE
(D) TR AT

(E) 3w

Tfhes AR o o1 H AEfafgd s w
T Hifs

HUA 1 : USH THRHE TN (3TN.T.TA.)
SRR B, ST b SR i foreteft 1 3myfd
<l ST 8, 99 deh I8 ST 1 hl §41T
TEAT & | Wfehd S A ferstelt i 31gfd g
Bl ST &, e THEE TN (AR.C.E.) H
ot g —aq fire wirelt 2 |

HUA 2 : 10eH THE A (AR.T.TH.) &
AR W g&T 99 o €9 § Fehld femn
STl & 3R 98 fgdaes wm o1 =i
fearsa i gor 4 o Bt & |

30 | HH-91/8 HH Fal /7 7
(A) 2 1 311 2 A1 w8l &

(B) hadl o 2 FE B

(C) o 1 3T 2 Sl @l Tl &

(D) I %A 1 &l &

(E) 3Tt
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31.

32.

33.

Which city in Haryana had the first metro
rail ?

(A) Gurugram
(C) Kaithal
(E) Not attempted

(B) Hisar
(D) Mahendragarh

The dimensions of a room are 40 m, 25 m
and 10 m. If it is filled with cuboidal boxes
each of dimensions 2 m x 1.25 m x 1 m,
then the no. of boxes which can be filled is
(A) 8000
(C) 4000

(B) 2000
(D) 1800
(E) Not attempted

Which figure will come in the place of

question mark (?) ?

A )

Sl:l2

(€)

NRCAR R

(D)

(E) Not attempted

31.

32.

33.
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BT % fohd STeX O Ugelt Uel i I®
&1 oft 7
(A) TeU™ (B) fe&m
(C) U (D) WegTe
(E) 3Tv=mtyd

Teh L =T M 40 m, 25 m 3 10 m
21T 2m x 1.25m x 1 m AW a1
TR 9l T W ST 2, df W AW 91l
ol <l TS 8

(A) 8000 (B) 2000
(C) 4000 (D) 1800
(E) A9iyd

T g (?) o TIH W HE-H 3T
SRAf 7

28 [
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34.

35.

36.

37.

e

What is the role of the Haryana

Renewable Energy Development Agency

(HAREDA) ?

(A) Providing electricity to rural areas

(B) Enforcing the Energy Conservation
Act, 2001

(C) Promoting solar panel imports

(D) Managing coal-based power plants

(E) Not attempted

A shopkeeper marks an item at Rs. 2,000
and gives successive discounts of 15%
and 10%. What is the final selling price of

the item ?
(A) Rs. 1,510 (B) Rs. 1,500
(C) Rs. 1,520 (D) Rs. 1,530

(E) Not attempted

Complete the following analogy.
8:24::7:32

(A) 10 (B) 8

(C) 6 (D) 5

(E) Not attempted

The Headquarter of Haryana State
Industrial and Infrastructure Development
Corporation (HSIIDC) is located in

(A) Faridabad

(B) Panchkula

(C) Chandigarh

(D) Gurugram

(E) Not attempted

-10-
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giemon Fefieria Set faem T
(TF.0.3MR.3.E1.1, ) T o:m qfirehT & 7

(A) TTefior &t B ferega SueTed ST

(B) Sl TRETUT A=, 2001 T JadiA
(C) TR U7 31Tl bl ST

(D) HIFAT JMENMA ol GIAT T TG
(E) e

Teh GHMER Teh 9% T &. 2,000 3ifehd
AT & TAT 15% T 10% b1 Shikeh B2 <l
2 | a%g 1 3ifaw faska goa o= g 7

(A) %. 1,510 (B) ®. 1,500
(C) ®. 1,520 (D) & 1,530
(E) e

freferfaa wmeaar gof $Hifse |
8:24::7:32

(A) 10 (B) 8

(C) 6 (D) 5

(E) 3TSRImted

BT TSy SfEnfies e SeEE
TorepT HORTH (T9.wE.3TE.3TME.SLH.) &
qEITer qfRme |

(A) ®IeTeTe

(B) "EReT

(C) =IgrTg

(D) Teu™

(E) A9iyd
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38. Find the correct mirror image.

O
ék ’ 6
(E) Not attempted

39. Which number system uses only digits
Oand1?
(A) Decimal
(C) Binary

(E) Not attempted

(B) Hexadecimal
(D) Octal

40. IfRs. 8,000 invested ata compound interest
gives Rs. 1,261 as interest after 3 years,
then the rate of interest per annum is

(A) 17.5% (B) 10%

(C) 5% (D) 25%

(E) Not attempted

41. The decimal form of % is

(A) 0.18
(C) Not defined
(E) Not attempted

(B) 0.18
(D) 0.018
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38. W& guur fdfers 3 HifST |

Al
YR
C>ék (D)ﬁ

(E) 3rv=nfEa
39. HI9-H T& Yol shaed 0 37T 1 37k hl
I A B ?
(A) SIS (B) TSR
(C) sl (D) 3Aiekee
(E) A9iyd
40. 9 %. 8,000 %! Tshdlg A H ot &
T 39N 1 IS o &Y H &. 1,261 I gd
2, Ol ofteh SIS AT 8 7
(A) 17.5% (B) 10%
(C) 5% (D) 25%
(E) A9iyd
41. %wwm%
(A) 0.18 (B) 0.18
(C) Iruftaiya (D) 0.018
(E) 3t
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44,

45.

46.

e

Central Institute for Research on
is situated at Hisar district of
Haryana.
(A) Deer
(C) Crocodile
(E) Not attempted

(B) Buffaloes
(D) Tiger

A series is given, with one term is missing.
Choose the correct alternative from the
given ones that will complete the series.
14, 14, 28, 84, 336, x

(A) 2016 (B) 1344

(C) 1680 (D) 1682

(E) Not attempted

Which major river forms Haryana’s
eastern boundary ?
(A) Ghaggar

(C) Saraswati

(E) Not attempted

(B) Yamuna
(D) Sutlej

The author of the important musicological
text ‘Sangita Ratnakara’ is

(A) Pandit Haridas

(B) Sarangadeva

(C) Tansen

(D) None of the above

(E) Not attempted

Which canal system of Haryana
originates near Nangal and irrigates Sirsa
and Hisar ?

(A) Bhakra Canal

(B) Gurugram Canal

(C) Jawaharlal Canal

(D) Eastern Yamuna Canal

(E) Not attempted
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giemon & feom T ha
FIEY Te TR B |
(A) Teor (B) #®
(C) HTH=S (D) &9
(E) 3=
Th @ Gl TS B, TS T e 9 ¢ |
feu e fempedi @ @ 97 wEl faehed g S
ST ! T T |
14, 14, 28, 84, 336, x
(A) 2016 (B) 1344
(C) 1680 (D) 1682
(E) 3vnfEa
HH-H wgE 7 ghamn i g €
AR ?

(A) I (B) 3T
(C) T (D) FAGS
(E) 3t

Hecaqul Erfiaeme T wifid Wi W
TEH &
(A) HfeT Efer

BT <t - T8 Junedt AT
g & faeherdt 8 3R fawan 3t feam =
feifera st 8 2

(A) HIEST 8L

(B) eI T8

(C) SETELATeT 85X

(D) et AT T
(E) 3=t
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47.

48.

49.

50.

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

bca _b _aabc_a_caa

(A) cbab (B) ccab

(C) bcbb (D) acab

(E) Not attempted

In which year Social Forestry Scheme
was started in Haryana ?

(A) 1996
(C) 1999

(B) 1980
(D) 1982
(E) Not attempted

Which Amendment of the Indian
Constitution introduced Fundamental
Duties ?

(A) 44™ Amendment

(B) 42"% Amendment

© 87" Amendment

(D) None of the above

(E) Not attempted

A salary is increased by 25% and then
20% of the new salary is deducted. If the
final salary is Rs. 12,000, what was the
original salary ?
(A) Rs. 13,000
(B) Rs. 11,000
(C) Rs. 12,000
(D) Rs. 10,000

(E) Not attempted
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frafeifaa 31eR faen 4 $9 38R g9 @
S 35 i faehey & &9 4 38 A 1 fou
TR | HE foehed g |

bca _b _aabc_a _caa

(A) cbab (B) ccab

(C) bcbb (D) acab

(E) ITwrmtad

g & grfsres arfaeht e fg ad
& H TS AT 7
(A) 1996

(C) 1999

(E) 3Tv=mtyd
IR wfage § forg Ty 3 @ifers
shaeal =l U feRaT ?

(A) 443 GRNeH

(B) 42 4T G=IeH

(C) 87 af TIMe

(D) ST | & IS T

(E) 3mnfEa

(B) 1980
(D) 1982

T o H 25% i gig ol It & AR
¢ | T I T 20% e foF2m I 2 |
gfe 3ifam 999 %, 12,000 B, O STEdfaeh
AT T AT ?

(A) ®. 13,000

(B) ®. 11,000

(C) %. 12,000

(D) %. 10,000
(E) 3v=nfEa
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51.

52.

53.

54.

Which city of Haryana houses Asia’s best
dairy research institute, National Dairy
Research Institute (NDRI) ?

(A) Karnal (B) Hisar

(C) Panipat (D) Rohtak

(E) Not attempted

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

?

]

(B)

(©)

(E) Not attempted

Harsha transferred his capital from
Thanesar to

(A) Delhi

(C) Mathura

(E) Not attempted

(B) Kannauj
(D) Pataliputra

The first jute mill was set up near Kolkata
at Rishra in

(A) 1856

(C) 1857

(E) Not attempted

(B) 1854
(D) 1855
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TR 1 TEE IS S0 ITEYH HEIH,

el T e sRese (TH.€L3maTE.)
g & for s g a7 7
(A) HEATA (B) feum
(C) urua (D) Ugde
(E) 3TS=mtyd
T | € g 3MERId < U i foshedl |
& T H-E Tl T B 7
?
(A) (B) YI
(C) (D)
(E) A9Yd
Y 9 1o T U § s
(A) feeeft (B) el
(C) wYu (D) drefergs
(E) 3r=nfEa
IRl b 918 T o ugelt g i
 gIyyg A TS oft |
(A) 1856 (B) 1854
(C) 1857 (D) 1855
(E) 3r=nfEa
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59.

e

Which dance form of Haryana is named
after an ornament worn on the forehead
by young married women ?

(A) Loor (B) Jhumar

(C) Gugga dance (D) Ghoomar

(E) Not attempted

Most of the Indian Subcontinent will be
grouped according to Koeppen’s system
under

(A) Df

(B) BSh

(C) Am

(D) Af

(E) Not attempted

Phalgu tourist place is located in which
district of Haryana ?

(A) Jind
(C) Jhaijjar

(B) Mahendragarh
(D) Kaithal
(E) Not attempted

What is the historical name of Markanda
river in Haryana ?
(A) Saraswati

(C) Aruna

(E) Not attempted

(B) Sharana
(D) Varuna

Who was the founder of the Satavahana
dynasty ?

(A) Vashishtaputra Pulamayi
(B) Gautamiputra Satakarni
(C) Hala

(D) Simuka

(E) Not attempted
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BTN % SH-| T 1 ATHRLT JAT

foranfea wfgest gro 719 W U8 I 91
e W fRar T g 7

(A) X (B) W

(C) T A (D) gL

(E) 3r=nfEa

HIU T JTelt & ITHR R ITHRTE
% RIS T ! HYEIehd fohal ST
(A) Df

(B) BSh

(C) Am

(D) Af

(E) 3rv=nfEa

giemm & foha et § Bt wieT wra
Razg?

(A) St (B) WegTg

(C) TSR (D) U

(E) 3Tv=mtyd

g & aReher A<t 1 UfdaTiae T
T ?

(A) T (B) IRUM

(C) 3T®Um (D) =&oT

(E) 3v=nfEa

HTdaTgd TSI 1 TEATIeh <hid AT ?
(A) SRS germrRf

(B) e Hrcehufi

(C) arett

(D) Tewgsh

(E) 3m=nfEa
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The highest peak of Haryana, Karoh
Peak, is located in which district ?

(A) Yamunanagar (B) Ambala

(C) Panchkula (D) Karnal

(E) Not attempted

Pointing to a photograph Lata says, “He is
the son of the only son of my grandfather.”
How is the man in the photograph related
to Lata ?

(A) Cousin

(B) Uncle

(C) Data is inadequate

(D) Brother

(E) Not attempted

Who is the head of a Gram Panchayat in
Haryana ?

(A) Panchayat Secretary

(B) Sarpanch

(C) Block Development Officer

(D) District Collector

(E) Not attempted

Two friends A and B invest in a business
in the ratio 3 : 5. At the end of the year,
they earned a profit of Rs. 40,000. What is
A’s share of the profit ?

(B) Rs. 50,000

(D) Rs. 30,000

(A) Rs. 15,000
(C) Rs. 40,000
(E) Not attempted
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e 6 gew S 9@, HUg =i,
fore et & @ 2 2
(A) IR

(C) Wk
(E) 3Tv=mtyd

(B) st
(D) =htATA

Teh T 1 AR 39T HTd §Y T el 2,
‘98 T el % Fohelld o T ST 7 |7 AR
Tferafe aam R gEy g ?
(A) == Wi

(B) ==

(C) MRl AT &

(D) T8

(E) 3v=nfEa

ERETOT § U v s gReEn i g § 7
(A) JeTad T

(B) T

(C) @e foem Afeprdt

(D) TSremefis

(E) 3Tmted

T T ASTRBUS a@™ H3:5%
3 @ faw o € | 99 % 31§ 3=
%. 40,000 hT ATH HHMET | A9 |

A1 et fewan @ 2

(A) ®. 15,000 (B) . 50,000
(C) %. 40,000 (D) %. 30,000
(E) STSRmf¥a
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64. Consider the following statements related
to Deccan Plateau :
Statement 1 : This is bordered by the
Western Ghats in the east and Eastern
Ghats in the west.
Statement 2 : Western Ghats are
comparatively higher in elevation and
more continuous than the Eastern Ghats.
Which of the statements given above
is/are correct ?

(A) Only statement 2 is correct

(B) Both statements 1 and 2 are correct
(C) Both statements 1 and 2 are incorrect
(D) Only statement 1 is correct

(E) Not attempted

65. Haryana ranked among the bottom five

States in which report released by

NITI Aayog ?

(A) Sustainable Development Goals
(SDG) Report 2025

(B) Fiscal Health Index 2025

(C) Ease of Doing Business Index 2025

(D) State Investment Index 2025

(E) Not attempted

66. Complete the following analogy.

ACE:FHJ::0QS:
(A) TVX
(C) uwy
(E) Not attempted

(B) RTU
(D) PUT

67. This protected area contains one of the
last surviving remnants of Delhi Ridge hill
range

(A) Nahar Wildlife Sanctuary

(B) Asola-Bhatti Wildlife Sanctuary

(C) Abubshahar Wildlife Sanctuary

(D) Bhindawas Wildlife Sanctuary

(E) Not attempted
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TRG % TSR § Halud fferfaa At
T fe=m $ifsre :

HUA 1 : YT G H dreaH! °1e IR afvam o
ooff ame & o 2

oM 2 : gdff Tre 6t g § ufvadt =
Jferer s W 3R Sferes e 2 )
30 | § HH-91/8 HHF Fal /7 7
(A) I HUT 2 TEl B

(B) ®UA 1 3R 2 31 A &

(C) o 1 3T 2 Sl @l T &

(D) I HH 1 TE 2

(E) 3v=nfEa

Fifa s gro I w-Et e o

giEmon w1 3ifem utw U= # T fen

TR ?

(A) Fad o &g (| gsh.) fard
2025

(B) TSThINI ¥ Fhish 2025

(C) 39 3ATH g3 faed 2o 2025

(D) T=T TaI™T FFehih 2025

(E) 3=nfEa

frefafad saeTar gt i |

ACE : FHJ:: OQS:
(A) TVX

(C) UWY

(E) 3r=nfEa

39 TiEa & § fooelt wdd 2l %
Jfeqw Tfedcaa™ 3rERIw U 9 U 2
(A) TR TSI TR

B) STHIT-Yg! J=sila TR0
C) SIS TSilel HRNY

D) figemE s=rsie 31wmuy

E) 3anfEa

(B) RTU
(D) PUT

P


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

68.

69.

70.

71.

e

Who was the first ruler to establish Hisar
as a major city in Haryana ?

(A) Sher Shah Suri

(B) Firoz Shah Tughlaq
(C) Akbar

(D) Babur

(E) Not attempted

Which of the following is not correctly
matched ?

(A) 1YB=1024 GB

(B) 1 TB=1024 GB

(C) 1EB=1024 PB

(D) 1 GB =1024 MB

(E) Not attempted

The following table shows population
(in millions) of a city over 5 years. What
is the increase in population from 2016 to
2020 ?

Year 201612017(2018|2019 (2020
Population| 1.5 | 1.8 [ 21 | 24 | 27
(A) 1.5 millions (B) 1.2 millions

(C) 1.8 millions (D) 1 million

(E) Not attempted

If S denotes x, P denotes —, R denotes +
and Q denotes =+, then
14641Q121P100S2R100 = ?

(A) 61 (B) 31

(C) 21 (D) 48

(E) Not attempted
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g ¥ fZar #I U g&7 I o &9 °
LTI A STAT gl ITEh hid AT 7
(A) e Hqh

(B) TRt I8 qTeieh

(C) I

(D) sTsiX

(E) TSR

fferfiga & & - o gofera =i & ¢
(A) 1YB =1024 GB
(B) 1TB = 1024 GB

(C) 1 EB=1024 PB
(D) 1 GB = 1024 MB
(E) 3v=nfEa

T arferemt 5 a9t | U wEt S SHEEn
(fiferem ©) <wifeh @ | 2016 & 2020 a6

e § fohal 9fg &8 7 ?

L
FEE
(A) 1.5 fafer=
(C) 1.8 faferm
(E) ST

Ife S, x I AT 7, P, — I g 2,
R, + bl 3T & AT Q, + hl STl &,

14641Q121P100S2R100 = ?

2016
15

2017
1.8

2018
2.1
(B) 1.2 fufera=
(D) 1 fuferem

2019
24

2020
2.7

(A) 61 (B) 31
(C) 21 (D) 48
(E) 3v=nfEa
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72. A cancomplete ajobin 12 days and B can
complete the same job in 18 days. If they
work together, how many days will they
take to complete the job ?

(A) 7.5 days

(B) 8 days

(C) 7.2 days

(D) 6 days

(E) Not attempted

73. Which of the following is not true for a
parallelogram ?
(A) Opposite angles are bisected by the
diagonals.
(B) Opposite angles are equal.
(C) Diagonals bisect each other.
(D) Opposite sides are equal.
(E) Not attempted

74. The value of 4\/3\/22 is

(A) 21/ (B) 27°

(C) 2° (D) 26

(E) Not attempted

75. Where is the Indo-Israel Horticulture
Project located in Haryana ?

(A) Panipat

(B) Uncha Majra
(C) Sirsa

(D) Gharaunda
(E) Not attempted
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73.
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AT Hr I 12 fei & g o Tehat & aUT
B 3 % I 18 fedi # qU X Fehell 7 |
Ff¢ o T Teh A1 M Y, 1 M IU HH
H 3= fope fem @ ?

(A) 7.5T@

(B) 8fe

(C) 7.2f

(D) 6fe

(E) ST

TR g % fore feferfiad § & -

qa TR 8 7

(A) Tereurt gra Top@ whior T favfora
B ® |

(B) THI@ IV S B & |

(C) Torpol weh g bt T forwiford e 2 |

(D) ETHE YSd ST B & |

(E) 3Tomféa

4302 @7 o 2

(A) 21/6
(C) 2°
(E) A9iyd

BT T 3730 ST IRITSHT
gl feorg 8 7

(A) T

(B) ST HISHT

(C) forcam

(D) =iel

(E) 3T
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English Language

Choose the correctly spelt word.
(A) Personel (B) Perssonal
(C) Parsonnel (D) Personnel
(E) Not attempted

Choose the alternative which best expresses
the meaning of the given idiom/phrase.

Like a sitting duck
(A) Sleepy

(C) Ignorant

(E) Not attempted

(B) Fat
(D) Lazy

Choose the correct active/passive form of
the given sentence.

She handles all tasks efficiently.

(A) All tasks have been handled
efficiently by her.

(B) All tasks were handled efficiently by
her.

(C) All tasks are being handled efficiently
by her.

(D) All tasks are handled efficiently by
her.

(E) Not attempted

Choose the correct antonym of the
following word.

Ascend
(A) expand (B) descend
(C) arrive (D) increase

(E) Not attempted

Choose the correct option to form a
meaningful sentence.

to the / bring / car park / the money
(A) Bring the money to the car park.
(B) Car park to the bring the money.
(C) The money bring to the car park.
(D) Bring to the car park the money.
(E) Not attempted
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81.

82.

83.

84.

85.

Choose the correct indirect form of the
given sentence.

His friend said to him, “Did | not warn you
against this beforehand ?”
(A) His friend asked him if he did not
warned him against that beforehand.
(B) His friend asked him if he had not
warned him against that beforehand.
(C) His friend said to him if | had not
warned you against that beforehand.
(D) His friend asked him did he not
warned him against that beforehand.
(E) Not attempted

Choose the correct meaning of the

following idiom or expression.

Piece of cake.

(A) Would never like to do something

(B) Join a popular trend or activity

(C) Feeling slightly ill

(D) A job, task or other activity that is
easy or simple

(E) Not attempted

Choose the correct synonym of the
following word.

Pause
(A) Staff (B) Safe
(C) Stop (D) Start

(E) Not attempted

Choose the correct answer after making
necessary corrections.

| am angry on you.

(A) 1'am angry with you.

(B) 1'am angry in you.

(C) I am angry to you.

(D) I am angry for you.

(E) Not attempted

Give one word substitute for the following.
The study of plants is called

(A) Sericulture (B) Astrology

(C) Botany (D) Bacteriology

(E) Not attempted
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86.

87.

88.

89.

90.

&= v

‘T + 31 = e foRd Al 1 e 7 7
(A Ffe (B) T

(C) a7, (D) <E

(E) TSR

IO 31 T 9Tt Y] I FAT HEd & 7
(A) TErET= g

(B) Tehref wsq

(C) Taretm wrsg

(D) T | HIE &

(E) 3manfEa

87’ o foreli Ise 2|
(A) Hehe

(B) WaTh

(C) Tehe

(D) 3TR&TH

(E) 3Tomtda

AT IIeg HT T A 2l
(A) I (B) 323

(C) 3red (D) =

(E) 3=nfEa

FTYRI, FRIAT, YA T Iea
_ uWMHhIuE R |

() fe=d (B) 35

(C) ser (D) E&pd

(E) 3nfEa
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T e TR wler ¢’
T T # frefafad wee 3w o @ &
Teg I 1 IR TR |

(A) efi-efit

(B) TY-TTY

(C) -8

(D) FIT-TFI

(E) 3TSRIted
“IreTaesh B ° ey fomad 2 17 9.

a1 Tore Tsharm <p1 Serg 8 ?

(A) qeiehfers (B) Jomelsh

(C) Ui (D) BT

(E) 3Tomiyd

AT TR I BIedRt Tt THR
TRt % 3§ fomm 1 S
fepa ST B

(A) 37 (B) 34

(C) 34 (D) i

(E) 3Tomfya

oo’ wep doem v 2 | Fefeiad vreei
T 3HH HEl qgHd Ieg AR fAfa |
(A) =T (B) e

(C) Tt (D) &

(E) 3T


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

e

95. fr=ferfiad weei # @ ‘e’ w1 wEl wee

FMHT |

(A) & (B) femur
(C) gdm (D) <
(E) ST

96. ‘TR YeId & 37t USAT’ 39 cAlehife
et IR ?

(A) Tomm =161 % o 8 S |

(B) ST IR B & fared 3m we |

(C) 3T=di Jq H 3T T & |

(D) IcT&T =1 JHTUT HATERIHhal &l |
(SREERIER]

S ooy fopeft =afer, smoft srean aeq <6
AT © gafed foRiadr 1 sie e, 3=
_ fooworeEd

(A) TEITETES

97.

(B) TUTETEh
(OREEEIEE?
(D) RHTTETES
(E) 3TSRIT¥a

98.

99.

100.
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BRI ST &A1 | T HETeW 7, 36 Hal
31 =1 feafem |

(A) T FE T EM |

(B) H|TH $<hT T |

(C) wga T &1 ST |

(D) |1 BTg T |

(E) 3Tmted

I i T B IW R HED & 7
(A) gt

(B) g™

(C) 3Tmerdid

(D) A

(E) 3TSRITRa

“HH S 9Tl SAfga’
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9.

10.

11.

12.

13.

14.

17.

18.

19.

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father's Name, Mother’s
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

Candidates are warned not to fold or make any stray marks on the OMR
Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

Candidate’s request to change the examination centre and seat in
the Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

. Candidates have to fill one option compulsorily out of five options

given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

. No candidate shall be allowed to go to the toilet/washroom during

first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the

examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

. In case of any discrepancy between the English and Hindi

versions of any question, the English version will be treated as
final/authentic.
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Provisional Answer Key for CE7G — 25 (Set-4)
Question No. Answer Key Question No. Answer Key
1 C 51 A
2 A 52 C
3 A 53 B
4 A 54 D
5 D 55 B
6 A 56 C
7 A 57 D
8 C 58 C
9 A 59 D
10 C 60 C
11 A 61 D
12 C 62 B
13 B 63 A
14 C 64 A
15 C 65 B
16 A 66 A
17 A 67 B
18 B 68 B
19 A 69 A
20 C 70 B
21 D 71 C
22 B 72 C
23 D 73 A
24 B 74 A
25 D 75 D
26 B 76 D
27 B 77 C
28 C 78 D
29 B 79 B
30 A 80 A
31 A 81 B
32 C 82 D
33 A 83 C
34 B 84 A
35 D 85 C
36 C 86 D
37 B 87 A
38 A 88 B
39 C 89 B
40 C 90 A
41 A 91 D
42 B 92 B
43 C 93 D
44 B 94 C
45 B 95 C
46 A 96 B
47 D 97 A
48 D 98 B
49 B 99 D
50 C 100 C
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